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General Instructions :

Read the following instructions very carefully and strictly follow them :
(1) This question paper consists of 39 questions. All questions are compulsory.
(i) This Question paper is divided into five sections — A, B, C, D and E.
(iti) Section A - Question Nos. 1 to 20 are Multiple Choice Questions. Each

question carries 1 mark.

iv) Section - Question Nos. ) are Very ort Answer type
Sect B - Quest Nos. 21 to 26 Ve Short A t
questions. Each question carries 2 marks. Answer to these questions

should be in the range of 30 to 50 words.

(v) Section C - Question Nos. 27 to 33 are Short Answer (SA) type
questions. Each question carries 8 marks. Answer to these questions

should be in the range of 50 to 80 words.

(vi) Section D - Question Nos. 34 to 36 are Long Answer type questions.
Each question carries § marks. Answer to these questions should be in

the range of 80 to 120 words.

(vii) Section E - Question Nos. 37 to 39 are of 3 source-based/case-based

units of assessment carrying 4 marks each with sub-parts.

(viii) There is no overall choice. However, an internal choice has been provided
in some sections. Only one of the alternatives has to be attempted in such

questions.

2231/3/1 3 P.T.O.
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SECTION - A (20 x 1 = 20)

In this section, Questions No. 1 to 20 are Multiple-Choice Questions.

All questions are compulsory.

1. Identify the product X’ obtained in the following chemical reaction : 1
CaCO,—2 X'+ CO,

(A) Quick lime (B) Gypsum
(C) Lime Stone (D) Plaster of Paris
2.  Select a pair of natural indicator from the following : 1

(A) Litmus and methyl orange

(B) Turmeric and Litmus

(C) Phenolphthalein and methyl orange
(D) Methyl orange and Turmeric

3. A chemical compound used in glass, soap and paper industries is 1
(A) Washing Soda (B) Baking Soda
(C) Bleaching Powder (D) Common Salt
4. The structural formula of Cyclohexane is 1
- H
b rd
H-- -1
e B H-_/ N oy
2N Lo cy
A 1-1 (- H (B) N /
Lo ¢-—H
N e f — O
H- =1y Ill 1
Heo¢-H
I — .f .-’/ \\\\
H- " -H
H -H:{‘;f \;‘Tf 11 \\\ /__, J/f
© - : D)
H™ N s €—c
(=t noo

2231/3/1 5 P.T.O.
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5. T feu mu v et W fomm Shifsa

a Al,O, +b HCl— c AlCI; + d H,0
3G (T THIHIT ! TfeTd - o TIT a, b, ¢ 3R d % M HHAA: BH AT -
(A) 1,6,23W3 B) 1,6, 332

(C) 2,6,23N3 D) 2,6, 332

6. = fem mn i o v g s A = # 7
@) CHy, B) C;H,,

(©) C,H,, D) C,H,

7. RS TR M U ATl 3 A TR | e g 7
(A) NaCl + AgNO, — AgCl + NaNO,
(B) CaO +H,0 — Ca(OH),
(©) KNO, + H,S0, - KHSO, + HNO,

(D) ZnCl, +H,S — ZnS + 2HCI

8. e feu Tu ted EHIHI H B 38 Teh bl Y S HITehT fSTSH 1 Sge e ® |
(A) esifer (B) i
(C) ufehfyes 3mt (D) Hrseehisi
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5.  Consider the following Chemical equation : 1

a Al,Og +b HCl —> ¢ AICl, + d H,0

In order to balance this chemical equation, the values of a, b, ¢ and d must

be
(A) 1,6,2and3 B) 1,6,3and 2
(C) 2,6,2and 3 D) 2,6,3and 2
6.  Which one of the following hydrocarbons is different from the others ? 1
@A) CH,, B) C.H,,
(©) CH,, D) C,Hg
7.  Which one of the following reactions is different from the remaining three ? 1

(A) NaCl + AgNO, — AgCl + NaNO,
(B) CaO +H,0 — Ca(OH),
(©) KNO, + H,S0, - KHSO, + HNO,

(D) ZnCl, +H,S — ZnS + 2HCI

8. Select from the following a plant hormone which promotes cell division. 1
(A) Gibberellins (B) Auxins
(C) Abscissic Acid (D) Cytokinins

2231/3/1 7 P.T.O.
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A 1:3 B) 1:2:1
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T b T Ga € |

(c) T et HEIRR gRT YRR o faft= 9t @ 31 ool fastiefista wr @1 g

HTF |

(d) st 3feie TETH W1 SATFESIG SR TG il & 31 38 I & fafim

T} Rl el B |
(A) Had (b) B) (a) 3R (d)
(C) (b) 3R (c) D) (b) 3R (d)
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9.

10.

11.

Part(s) of a flower which attracts insects for pollination is (are) 1
(A) petals and Sepals (B) anther and Stigma
(C) petals only (D) sepals only

In an experiment to study independent inheritance of two separate traits :

shape and colour of seeds, the ratio of the different combinations in F,

progeny would be 1
A 1:3 B) 1:2:1

C) 9:3:3:1 D) 9:1:1:3

Which of the following statement (s) is (are) true about human heart ? 1

(a) Right atrium receives oxygenated blood from lungs through

pulmonary artery.

(b) Left atrium transfers oxygenated blood to left ventricle which sends

it to various parts of the body.

(¢) Right atrium receives deoxygenated blood from different parts of the

body through vena cava.

(d) Left atrium transfers oxygenated blood to aorta which sends it to

different parts of the body.
(A) (b) only (B) (a)and (d)

(C) (b) and (c) (D) (b) and (d)

2231/3/1 9 P.T.O.
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12.

13.

14.

15.

Tl A HX < T oh S HehIUT o Thoea®d 3cd—~ Hdld o d1gi § % si- 91 I 5T |

S QI T -GS gH1 =180 -

(A) Tt 3R Tt (B) Tt 3R tt

(C) TT 3 tt (D) TT 3Tt

TS § 5N o § Gftford B aTeft TehTeT bl qiteredTd 8
(A)  3ToeeH, it (fagmon) it s

(B) 319acH, aieraur (fagmmor) iR ot sT=aies Tad
(C) uiegmur (fagmon), Jehivi 3R qeey

(D) & (fagaon), 3Tqede 3T 3AT=deh Ted

A e & IR dll & IhT § 39 R 1 Sfate freaq grm frees sae 3R awrs

hHIA: %
(A) D/2 3R 1/4 (B) D/4 3R 4L

(C) 2D 3R L (D) 4D 37 2L

F1 o TGI H hIg TR TIAT a8 (e ATWHRI I 8, ST 395 2Id &
(A) U &R (B) i It =R

(C) =R &K (D) ufF I &R
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12.

13.

14.

15.

A cross between two tall pea plants resulted in offsprings having a few

dwarf plants. The gene-combination of the parental plants must be 1
(A) Ttand Tt (B) Ttand tt
(C) TT and tt (D) TT and Tt

The Phenomena of light involved in the formation of a rainbow in the sky

are 1
(A) Refraction, dispersion and reflection

(B) Refraction, dispersion and total internal reflection

(C) Dispersion, scattering and reflection

(D) Dispersion, refraction and internal reflection

In case of four wires of same material, the resistance will be minimum if

the diameter and length of the wire respectively are 1
(A) D/2 and L/4 (B) D/4 and 4L

(C) 2D and L (D) 4D and 2L

A food chain will be more advantageous in terms of energy if it has 1
(A) 2 trophic levels (B) 3 trophic levels

(C) 4 trophic levels (D) 5 trophic levels

2231/3/1 11 P.T.O.
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(a) 35 fodefi e 2 |

(b) TSI &l o I8 o1 I § 3T Tt BT+ STaTar foIfehTull & GRe YEH hid! 2 |
(c) RIS ferferToti <k Tl | SATRATS (O.,) U § JISHH S+l 2 |

(d) Yl % IYHSA o et TR I TSI Teh ST ST TohTd FHTIGd hid! g |

T AE HOF § -
(A) (a) 3R (b) (B) (a) 3R (c)
(C) (b) 3R (c) (D) (b) 3R (d)

T ST 17 § 20 39 ST H 8 e — WU (A) 3R BN (R) w1 & | 37 gl
o I 1t feu 31 3fad fosheq @ et €T

(&) (A) 3R (R) THI &2 2 a1 (R) 3 (A) 1 98l AT B &I 7 |
B) (A) 3R (R) THI 921 & 741 (R) 31 (A) 3h! H&t AT T8I 81 @1 8 |
(C) (A) F&l g, Wg (R) Terd 7 |

(D) (A) e &, o (R) Tl 2 |

17. MR (A) : $S THI T HI Hothe fIera § ZaTE W W b &1g 1 Zehal Wy

YU B ST g |
RO (R) ;R foeh @ SAfees afsra amg ® |
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16. Consider the following statements about ozone : 1

(a) Ozone is poisonous gas.

(b) Ozone shields the earth’s surface from the infrared radiation from

the sun.
(¢) Ozone is a product of UV radiations acting on oxygen molecule.

(d) At the lower level of the earth’s atmosphere, ozone performs most

essential function.
The correct statements are
(A) (a)and (b) (B) (a) and (c)

(C) (b) and (¢) (D)  (b) and (d)

Q. Nos. 17 to 20 consists of two statements — Assertion (A) and Reason (R),

answer these questions selecting the appropriate option given below :
(A) Both (A) and (R) are true and (R) is the correct explanation of (A).
(B) Both (A) and (R) are true and (R) is not correct explanation of (A).
(C) (A) is true, but (R) is false.

(D) (A) is false, but (R) is true.

17. Assertion (A) : A piece of Zinc metal gets reddish brown coating when

kept in copper sulphate solution for some time. 1

Reason (R) : Copper is more reactive metal than Zinc.

2231/3/1 13 P.T.O.
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18.

19.

20.

21.

22.

2231/3/1 15 P.T.O.

Assertion (A) : Offsprings produced by asexual reproduction are

genetically similar to the parents.

Reason (R) : Asexual reproduction involves a single parent.

Assertion (A) : Red light signals are used to stop the vehicles on the road.

Reason (R) : Red coloured light is scattered the most so as to be visible

from a large distance.

Assertion (A) : The waste we generate daily may be biodegradable or

non-biodegradable.

Reason (R) : The waste generated, if not disposed off properly may cause

serious environmental problems.

SECTION - B

Question Nos. 21 to 26 are very short answer type questions. Each

question carries 2 marks.

When magnesium ribbon is burnt in air, an ash of white colour is
produced. Write chemical equation for the reaction giving the chemical
name of the ash produced. State the type of chemical reaction giving

justification for your answer.

Where are auxins synthesized ? How do they promote phototropism ?

1
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23.

23.

24.

25.

25.

26.

(a) TeUoh Uil o fohral Q1 GO B dTet =Tl SI&9Ti o el (STIeT) <h F=i
ST fSHehT ST Hed 3 3194 T H Toham o | Tish SIS o TTelt 3T 39T
I R Seoi o HIT |

AYAT

(b) wET T 73] T N1 ST HIET BT $Heh! TTiehell (FWTeMT) 50% Bl 2 | helet
g 3TN E1eeht 39 e hi SATEAT ShIfST |

I8 BH e ad & [ I3 A GE-g1e QY (F-3foan) | fifed & ? 39 39 & g1 HRON
T = ST | 39 QN b ERIEE o o7 IUAFT fohT ST <78 o YehR o1 AT fARaT |

(a) Toref TS grraETEl =TeTeh o HRUT I~ Frachd &1 {371 o Y ol g1 o Ty
AifeRd TG i | 39 3T § ATeteh § YaTfed 9 i feem 3R Jrashi &=
w@Erat S feam sifera Hife |

AYA

(b) 3T gfera o1 T ToaRa foraent 3wt fopeft rarhia uerel & Tohs 1 grafehd o A
ToparT STTT & | 39 SIERAT I g o fofu Amiferd @ wifae fSeest 3u=m 94
g % fafeuet o1 grafehd s & fepan aT 2 |

T (3UHTSh) TR hed & 7 fohell TTitas | $7eht Jrgafefa o < aiermi st gt

T |
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23. (a) List any two pairs of visible contrasting characters of garden pea
plants used by Mendel for his experiments stating the dominant and

recessive characters in each pair. 2
OR

23. (b) In human beings, the probability of getting a male or a female child

is 50%. Explain with the help of a flow diagram only. 2

24. When do we say that a particular person is suffering from hypermetropia ?
List two causes of this defect. Name the type of lens used to correct this

defect. 2

25. (a) Draw a labelled diagram to show the pattern of magnetic field lines
produced due to a current carrying straight conductor. Mark on it
the direction of current in the conductor and the direction of

magnetic field lines. 2
OR

25. (b) Name the device used to magnetise a piece of magnetic material.
Draw a labelled diagram to show the arrangement used for the

magnetisation of a cylinder made of soft iron. 2

26. What are decomposers ? List two consequences of their absence in an

ecosystem. 2

2231/3/1 17 P.T.O.
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(i) wRd,

(i) AL aAT
(i) HifgTw
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() faeeR,
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(iii) 3TRRA
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SECTION - C

Question Nos. 27 to 33 are short answer type questions. Each

question carries 3 marks.

27. State reasons for the following :

()
(b)
(©)

28. (a)

28. (b)

Zinc oxide is an amphoteric oxide.
Sodium metal is stored in bottle filled with kerosene oil.

In the reactions of nitric acid with metals, generally hydrogen gas is

not evolved.

State giving reason the reduction process to obtain the following

metals from their compounds : 3
(1) Mercury,
(11) Copper and
(111) Sodium
OR

State giving reason for the change in appearance observed when each of

the following metal is exposed to atmospheric air for some time : 3
1) Silver,
(11) Copper and

(111) Iron

29. We water the soil but it reaches the topmost leaves of the plants. Explain

in brief the process involved.

2231/3/1

19 P.T.O.
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32. Hic] URUA H foea WIS < 1 hl 98 § e it | 3 kW; 220 V 3THA 6 fohel
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R
“Wiy

£
X AW — XY
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30. (a) List two constituents of Central Nervous System (CNS). How are

these components protected from injuries ?

(b) Write two limitations of the use of electrical impulses. 3

31. Name and explain the phenomenon of light due to which the path of a
beam of light becomes visible when it enters a smoke filled room through
a small hole. Also state the dependence of colour of the light we receive on
the size of the particle of the medium through which the beam of light

passes. 3

32. Explain in brief the function of an electric fuse in a domestic circuit. An
electric heater of current rating 3 kW; 220 V is to be operated in an
electric circuit of rating 5 A. What is likely to happen when the heater is

switched ‘ON’ ? Justify your answer with necessary calculation. 3

33. (a) State Ohm’s law. Write formula for the equivalent resistance Rp of

the parallel combination of three resistors of values R,, R, and R.

(b) Find the resistance of the following network of resistors : 3
R
Sy
R
o My * Y
R
A AN

2231/3/1 21 P.T.O.
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34. (a)

34. (b)

35. (a)

2231/3/1

() pH IR % 1Y Wi 3 WU fae= i A, B, C, D 31 E & pH e
4,1, 13, 7 3R 10 S | $74 & 4 A7 forere -
(1) Y91 30, (2) 99 &N, (3) GG I, (4) IGHEH e
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SECTION -D

Question Nos. 34 to 36 are long answer type questions. Each question

carries 5 marks.

34. (a)

34. (b)

35. (a)

2231/3/1

(1) Five solutions A, B, C, D and E when tested with pH paper
showed pH as 4, 1, 13, 7 and 10 respectively. Which solution is :

(1) Strongly acidic (2) Strongly alkaline (3) Weakly acidic
(4) Neutral and (5) Weakly alkaline ? Arrange the solutions in

increasing order of H* ion concentration.

(i1) Write the name and formula of (1) an acidic salt and (2) a basic
salt giving the name of the parent acid and parent base used to

form the salt in each case. 5
OR

Name and state in brief the process which is used to prepare sodium
hydroxide from sodium chloride. In this process along with the main
product two gases ‘X’ and Y’ are also given off at the two electrodes.
Name X’ and Y’ specifying the name of their respective electrode at
which each gas is obtained. One of these gases when reacts with dry
calcium hydroxide produces a compound Z which is widely used in
water treatment plants and textile industries. Name Z and write

chemical equation for the reaction involved in its formation. 5

(1) What are spores ? On which structures are they formed ? How
do they overcome unfavourable conditions ? Name the organism

which multiplies with the help of these structures.

(1) Give two reasons why some plants are grown by the method of
vegetative propagation. List two methods used to grow plants

vegetatively. 5

OR
23 P.T.O.
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35. (b) (i) = feu U 3M@ 1 A= Fh A, B 3R C g0 3ifehd WA & T

R | @ g € o B 3vgmE ¥ fed C W ugear 8 7 36 qeed
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(i) foret goa | Fi=m <6 U= B aTel UiEdH o1 Seoid shifT |

36. (a) (1) M feu U gk yehtor § arvafaa fohtor o1 9y gurid & foru fopwor ama
Hifau
fereft Jreraet o WX 3Tl 39 ekt fohtor 1
(1) T q&F 3787 o THI=R AWM 8, 9
(2) S T Wik ohi 3 fefdres (St femms &) & |
(11) 4cmﬁﬁ§ﬁﬁ24cm@ﬁ@%%@ﬁﬁﬁﬂ%ﬂ@ﬂﬁm
oread feud 2 | o & fore <A1 gl 16 cm @ | Wicifersy shi feurfa 3T |msst
1A I |
JAYET
36. (b) (1) = feu TU e TRl H YUEiad fohior kT U € & foTu fehtor T
ity
Tereft 3ret T Wt 3TTafad 39 SeRTet fohtor 1
(1) T q&F 3787 o GHI=R AWM 8, 7
(2) S g BrwE i 3R fefren (s femré &) 2 |

2231/3/1 24



35. (b) (1) Study the diagram given below and name the parts marked as
A, B and C. What happens when B reaches C in the ovary ?

Mention its significance.

(11) Write the post fertilisation changes that occur in a flower. 5

36. (a) (1) Draw a ray diagram to show the path of the refracted ray in

each of the following cases :

A ray of light incident on a concave lens

(1) parallel to its principal axis, and

(2) 1s directed towards its principal focus.

(1) A 4 cm tall object is placed perpendicular to the principal axis of
convex lens of focal length 24 cm. The distance of object from

the lens is 16 cm. Find the position and size of image formed. 5
OR
36. (b) (1) Draw a ray diagram to show the path of the reflected ray in

each of the following cases :
A ray of light incident on a convex mirror
(1) parallel to its principal axis, and

(2) 1s directed towards its principal focus

2231/3/1 25 P.T.O.
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(1) A 1.5 cm tall candle flame is placed perpendicular to the principal
axis of a concave mirror of focal length 12 c¢m. If the distance of the
flame from the pole of the mirror is 18 c¢cm, use mirror formula to

determine the position and size of the image formed. 5

SECTION - E

Question Nos. 37 to 39 are Case/Source based questions. Each question
carries 4 marks.

37. More than three million carbon compounds have been discovered in the
field of chemistry. The diversity of these compounds is due to the capacity
of carbon atoms for bonding with one another as well as with other atoms.
Most of the carbon compounds are poor conductors of electricity and have
low melting and boiling points. 4

(a) Write the molecular formula of first two members of homologous

series having functional group —Br. 1

(b) Given below are the formulae of some functional groups : 1
11 (
-l i
Q. ()

{i) (11]
Write the name of these functional groups.

() What would be observed on adding a 5% alkaline potassium
permanganate drop by drop to some warm ethanol taken in a test

tube ? State the role of KMnO 4 In the reaction and write the

chemical equation for the reaction involved. 2
OR

(¢) Write the name of the compound formed when ethanol is heated at

443 K temperature with excess of conc. H,SO,. What is the role of
conc. H,SO, in the reaction ? Write the chemical equation for the

reaction involved. 2

2231/3/1 27 P.T.O.
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38. Human digestive system is a tube running from mouth to anus. Its main
function is to breakdown complex molecules present in the food which
cannot be absorbed as such into smaller molecules. These molecules are
absorbed across the walls of the tube and the absorbed food reaches each

and every cell of the body where it is utilised for obtaining energy. 4

(a) Name the glands present in the buccal cavity and write the

components of food on which the secretion of these glands act upon. 1
(b) Two organs have a sphincter muscle at their exit. Name them. 1
(¢) What will happen if :

(1) mucus is not secreted by the gastric glands.

(11) Villi are absent in the small intestine. 2

OR

(¢) “Bile juice does not contain any enzyme, yet it has important roles in
digestion.” Justify the statement. 2

39. In a domestic circuit five LED bulbs are arranged as shown. The source
voltage 1s 220 V and the power rating of each bulb is marked in the circuit

diagram. Based on the following circuit diagram, answer the following

questions : 4
+ r‘}h a
N o 23 W, 220V J
= i E‘ ,SA K * K,

- ]

1IW; 86V 11W:B6Y 11W; 56V 11W;a8V

B @ {:@ ]J@ h@

(a) State what happens when 1
(i) key K, is closed.

E =
—_—

(i) key K, is closed.

2231/3/1 29 P.T.O.
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(b) Find the current drawn by the bulb B when it glows.
(¢) Calculate
(i) the resistance of bulb B, and
(ii) total resistance of the combination of four bulbs B, C, D and E.
OR

(¢) What would happen to the glow of all the bulbs in the circuit when
keys K; and K, both are closed and the bulb C suddenly get fused ?

Give reason to justify your answer.

2231/3/1 31
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General Instructions :

Read the following instructions very carefully and strictly follow them :
(1) This question paper consists of 39 questions. All questions are compulsory.
(i) This Question paper is divided into five sections — A, B, C, D and E.
(i11) Section A - Question Nos. 1 to 20 are Multiple Choice Questions. Each

question carries 1 mark.

(iv) Section B - Question Nos. 21 to 26 are Very Short Answer type
questions. Each question carries 2 marks. Answer to these questions

should be in the range of 30 to 50 words.

(v) Section C - Question Nos. 27 to 33 are Short Answer (SA) type
questions. Each question carries 8 marks. Answer to these questions

should be in the range of 50 to 80 words.

(vt) Section D - Question Nos. 34 to 36 are Long Answer type questions.
Each question carries § marks. Answer to these questions should be in

the range of 80 to 120 words.

(vii) Section E - Question Nos. 37 to 39 are of 3 source-based/case-based

units of assessment carrying 4 marks each with sub-parts.

(viit) There is no overall choice. However, an internal choice has been prouvided
in some sections. Only one of the alternatives has to be attempted in such

questions.

2231/3/2 3 P.T.O.
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TUg - % (20 x 1 = 20)
TGS | 20 Tyt T (I 1 — 20) § | Ty arfari #
1. e, T ST e I S e T A 3 1
(A) €M T EIET (B) b drer
(C) foisreh =i (D) ST T
2. = § A o i v srfufsRen st oflm srfufsreeni a fir B 7 1

(A) NaCl+AgNO, — AgCl + NaNO,
(B) CaO +H,0 — Ca(OH),
(©) KNO,+H,S0, - KHSO, + HNO,

(D) ZnCl, + H,S - ZnS + 2HCI

3. = < i vemafes stffsran 1 vt 3ae X ygenfae 1

CaCO;—2 5 X'+ CO,

(A) femm sz = (B) foreem
(C) dTURR (D) TR 3TH Ui
4. Trefafad o € yepfae gaehi 1 el gy ; 1
(A) Torermg 3R et 3R
(B) Tl 3R foqemd

(C) FRTaTHIfTH TR AR 3T

(D) Hi¥reT 3T TR &ee)
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SECTION - A (20 x 1 = 20)

In this section, Question Nos. 1 to 20 are Multiple-Choice Questions.

All questions are compulsory.

1. A chemical compound used in glass, soap and paper industries is 1
(A) Washing Soda (B) Baking Soda
(C) Bleaching Powder (D) Common Salt

2. Which one of the following reactions is different from the remaining three ? 1

(A) NaCl + AgNO, — AgCl + NaNO,
(B) CaO +H,0 — Ca(OH),
(©) KNO, + H,S0, - KHSO, + HNO,

(D) ZnCl, + H,S - ZnS + 2HCI

3. Identify the product ‘X’ obtained in the following chemical reaction : 1

CaCO,—2 5 X'+ CO,

(A) Quick lime (B) Gypsum
(C) Lime Stone (D) Plaster of Paris
4. Select a pair of natural indicator from the following : 1

(A) Litmus and methyl orange
(B) Turmeric and Litmus
(C) Phenolphthalein and methyl orange
(D) Methyl orange and Turmeric
2231/3/2 5 P.T.O.
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5. e fean e W o1 U gEgihey s A = R

@) CHy, ®) CH,,

©) CzHy, (D) C,H,

6. TrAfREd H & ATt SR T :

IR

(B) 2C,H,OH + 2Na—> 2C,H,COONa + H,
(©) CH,COOC,H, + NaOH —> CH,COONa + C,H,OH

(D) CH4;COONa + NaOH —— CH, + Na,CO4

7. = feu e Tt e o famm i
a Al,0, +b HCl — c AICI, + d H,0
30 THTIeh FHIHTT b1 HfeTd SH o TTT a, b, ¢ 37 d o HH HU: §H TT1ET —
(A) 1,6,23R3 B) 1,6,33R2

(C) 2,6,23W3 D) 2,6, 332
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5.

Which one of the following hydrocarbons is different from the others ?

@) CHy, B) C.H,,

(©) CiHy, (D) C,H,

Select saponification reaction from the following :

Alkaline

C4H, COOH

(B) 2C,H.OH + 2Na—> 2C,H,COONa + H,
(©) CHLCOOC,H, + NaOH —> CH,COONa + C,H,OH

(D) CH,COONa + NaOH —> CH, + Na,COj

Consider the following chemical equation :

a AL,O4 +b HCl—> ¢ AICl, + d H,0

In order to balance this Chemical equation, the values of a, b, ¢ and d

must be
(A 1,6,2and 3 B) 1,6,3and 2
(C) 2,6,2and 3 D) 2,6,3and 2

2231/3/2 7
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10.

11.

A e & IR dRl & IhT § 39 R T Sfate freqaq grm frees sae 3R s

HUI: o
(A) D/2 3R 1/4 (B) D/4 3R 4L

(C) 2D IR L (D) 4D 3R 2L

TR TP TG0 HTRT gRI I8 Faigufd ot
(A) R H CO,, IHSH ! HAf HAT 2 |
(B) Sto-fafawdr 1 Seeu e g |

(C) T gl & R=ITd AT 2 |

(D) CFC < I hI TGS |

= 7T T S |1 A B18, THIST 3T TSR o foTe T8 & ?
(A) 3 TghIREhE e § | (B) 3 UhHehIIEhIT ST ¥ |
(C) I s AR 2 | (D) I AR A A2 |

Tl TS HX o WY oh SfTel Tehi0T o Hoed®q 3cd~ Hdfd o IIdi H H© - 119 I T |

Sk 1l 1 -GS gHT =8Y -

(A) Tt3W Tt (B) Tt 3R tt

(C) TT 3R tt (D) TT IR Tt
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10.

11.

In case of four wires of same material, the resistance will be minimum if

the diameter and length of the wire respectively are 1
(A) D/2 and L/4 (B) D/4 and 4L
(C) 2D and L (D) 4D and 2L
United Nations Environment Programme forged an agreement to 1

(A) control CO, emissions in the environment

(B) conserve biodiversity

(C) control water pollution

(D) reduce CFC production

Which one of the following statements is TRUE for Hydra, Amoeba and

Spirogyra ? 1
(A) They are multicellular. (B) They are unicellular.
(C) They reproduce sexually. (D) They reproduce asexually.

A cross between two tall pea plants resulted in offsprings having a few

dwarf plants. The gene-combination of the parental plants must be 1
(A) Ttand Tt (B) Ttand tt
(C) TT and tt (D) TT and Tt

2231/3/2 9 P.T.O.
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12.

13.

14.

Which of the following statement (s) is (are) true about human heart ? 1

(a) Right atrium receives oxygenated blood from lungs through

pulmonary artery.

(b) Left atrium transfers oxygenated blood to left ventricle which sends

it to various parts of the body.

(¢) Right atrium receives deoxygenated blood from different parts of the

body through vena cava.

(d) Left atrium transfers oxygenated blood to aorta which sends it to

different parts of the body.

(A) (b) only (B) (a) and (d)

(C) (b) and (c) (D) (b) and (d)

Part(s) of a flower which attracts insects for pollination is (are) 1
(A) petals and Sepals (B) anther and Stigma

(C) petals only (D) sepals only

The Phenomena of light involved in the formation of a rainbow in the sky

are 1
(A) Refraction, dispersion and reflection

(B) Refraction, dispersion and total internal reflection

(C) Dispersion, scattering and reflection

(D) Daspersion, refraction and internal reflection

2231/3/2 11 P.T.O.
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15.

16.

17.

Consider the following statements about ozone : 1

(a) Ozone is poisonous gas.

(b) Ozone shields the earth’s surface from the infrared radiation from

the sun.
(¢) Ozone is a product of UV radiations acting on oxygen molecule.

(d) At the lower level of the earth’s atmosphere, ozone performs most

essential function.

The correct statements are

(A) (a) and (b) (B) (a) and (¢

(C) (b) and () (D) (b) and (d)

A food chain will be more advantageous in terms of energy if it has 1
(A) 2 trophic levels (B) 3 trophic levels

(C) 4 trophic levels (D) 5 trophic levels

Q. 17 to 20 consists of two statements — Assertion (A) and Reason (R),

answer these questions selecting the appropriate option given below :
(A) Both (A) and (R) are true and (R) is the correct explanation of (A).
(B) Both (A) and (R) are true and (R) is not correct explanation of (A).
(C) (A) 1s true, but (R) 1s false.

(D) (A) is false, but (R) is true.

Assertion (A) : Oxides of metals show basic characters. 1

Reason (R) : Oxides of metals react with acid to form salt and water.

2231/3/2 13 P.T.O.
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18.

19.

20.

21.

22.

2231/3/2 15 P.T.O.

Assertion (A) : Red light signals are used to stop the vehicles on the road.

Reason (R) : Red coloured light is scattered the most so as to be visible

from a large distance.

Assertion (A) : In human beings, males have ‘XX’ sex chromosomes and

females have XY’ sex chromosomes.

Reason (R) : Sex of the child is determined at the time of fertilisation

when male and female gamete fuse to form a zygote.

Assertion (A) : Receptors are usually located in our sense organs and

perceive a particular stimulus.

Reason (R) : Different sense organs have different receptors for

detecting stimuli.

SECTION - B

Question Nos. 21 to 26 are very short answer type questions. Each

question carries 2 marks.

When a few drops of Barium chloride solution are added to an aqueous

solution of Sodium sulphate, a white precipitate is obtained.
(a) Write balanced chemical equation for the reaction involved.

(b) What is the other name of this precipitation reaction ? Why is it

called so ?

When do we say that a particular person is suffering from hypermetropia ?
List two causes of this defect. Name the type of lens used to correct this
defect.
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23.

23.

24.

25.

25.

26.

2231/3/2

()

(b)

Draw a labelled diagram to show the pattern of magnetic field lines
produced due to a current carrying straight conductor. Mark on it
the direction of current in the conductor and the direction of

magnetic field lines.
OR

Name the device used to magnetise a piece of magnetic material.
Draw a labelled diagram to show the arrangement used for the

magnetisation of a cylinder made of soft iron.

Where are auxins synthesized ? How do they promote phototropism ?

()

(b)

List any two pairs of visible contrasting characters of garden pea
plants used by Mendel for his experiments stating the dominant and

recessive characters in each pair.

OR

In human beings, the probability of getting a male or a female child

1s 50%. Explain with the help of a flow diagram only.

Define the terms biodegradable and mnon-biodegradable substance.

Classify the following items into these two categories :

Newspapers, Glass bottles, Polythene bags, Vegetable peels

17 P.T.O.
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27.

27.

SECTION - C

Question Nos. 27 to 33 are short answer type questions. Each

question carries 3 marks.

()

(b)

State giving reason the reduction process to obtain the following

metals from their compounds : 3
(1) Mercury,
(1) Copper and
(111) Sodium
OR

State giving reason for the change in appearance observed when
each of the following metal is exposed to atmospheric air for some

time : 3
(1) Silver,
(11) Copper and

(111) Iron

28. Write electronic configuration of Sodium (At. No.11) and Oxygen (At. No. 8)

and show the formation of the ionic compound obtained when these two

elements combine. Name anion and cation present in the compound. 3
29. (a) List two constituents of Central Nervous System (CNS). How are
these components protected from injuries ?
(b) Write two limitations of the use of electrical impulses. 3
2231/3/2 19 P.T.O.
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30.
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32.

33.
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30.

31.

32.

33.

34.

Write the main difference between aerobic and anaerobic respiration.
State the pathway which is common for both. Write the overall chemical
equation of aerobic respiration and mention the site where this process

occurs inside the cells. 3

Explain in brief the function of an electric fuse in a domestic circuit. An
electric heater of current rating 3 kW; 220 V is to be operated in an
electric circuit of rating 5 A. What is likely to happen when the heater is

switched ‘ON’ ? Justify your answer with necessary calculation. 3

Name and explain the phenomenon of light due to which the path of a
beam of light becomes visible when it enters a smoke filled room through
a small hole. Also state the dependence of colour of the light we receive on
the size of the particle of the medium through which the beam of light

passes. 3

List three advantages of parallel circuits in domestic wiring. 3

SECTION -D
Question Nos. 34 to 36 are long answer type questions. Each question

carries 5 marks.

(a) (1) Draw a ray diagram to show the path of the refracted ray in

each of the following cases :
A ray of light incident on a concave lens
(1) parallel to its principal axis, and

(2) 1s directed towards its principal focus.

2231/3/2 21 P.T.O.
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34. (b)

35. (a)

(b)

()

(b)

2231/3/2

(1) A 4 cm tall object is placed perpendicular to the principal axis of
convex lens of focal length 24 cm. The distance of object from

the lens is 16 cm. Find the position and size of image formed. 5
OR

(1) Draw a ray diagram to show the path of the reflected ray in

each of the following cases :

A ray of light incident on a convex mirror
(1) parallel to its principal axis, and

(2) 1s directed towards its principal focus

(11) A 1.5 cm tall candle flame is placed perpendicular to the
principal axis of a concave mirror of focal length 12 cm. If the
distance of the flame from the pole of the mirror is 18 cm, use
mirror formula to determine the position and size of the image
formed. 5

What is puberty ? Write any two changes that occur in boys during

early teenage years.

List two functions performed by testis in human males.

Mention one role each of (1) Vas deferens, (1) Seminal Vesicle

(i11) Urethra and (iv) Scrotum in human male reproductive system. 5
OR

Write two functions each of the following parts in human female

reproductive system :
(1) Ovary
(11) Oviduct
(111) Uterus

Describe the structure and function of placenta. 5

23 P.T.O.
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36. (a)

36. (b)

2231/3/2
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36. (a) (1) Five solutions A, B, C, D and E when tested with pH paper

showed pH as 4, 1, 13, 7 and 10 respectively. Which solution is :

(1) Strongly acidic (2) Strongly alkaline (3) Weakly acidic
(4) Neutral and (5) Weakly alkaline ? Arrange the solutions in

increasing order of H* ion concentration.

(1) Write the name and formula of (1) an acidic salt and (2) a basic
salt giving the name of the parent acid and parent base used to

form the salt in each case. 5

OR

36. (b) Name and state in brief the process which is used to prepare sodium
hydroxide from sodium chloride. In this process along with the main
product two gases ‘X’ and Y’ are also given off at the two electrodes.
Name X’ and Y’ specifying the name of their respective electrode at
which each gas is obtained. One of these gases when reacts with dry
calcium hydroxide produces a compound 7’ which is widely used in
water treatment plants and textile industries. Name Z and write

chemical equation for the reaction involved in its formation. 5

2231/3/2 25 P.T.O.



e

Qg -§

T3 AT 37 W 39 G ATHTI /TR0 ST T3 & | Tedeh T3 4 b HT1 8 |

37. TERA % &7 § 09 A | ft AAfees HeH & Afiehi 6 @IS & gl 8 | 3 Akl 6l
farfiy=TaT 61 HTOT SHTeH THTILST ST TTEHR 3T ST 3T 31T el o T 3T T
61 &A1 BFT R | ShieH & Jtferenier Afies forgd & ool B1d 8 qUT b TToiish 31K
FILA A E |

()

(b)

(c)

(c)
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SECTION - E

Question Nos. 37 to 39 are Case/Source based questions. Each question

carries 4 marks.

37. More than three million carbon compounds have been discovered in the
field of chemistry. The diversity of these compounds is due to the capacity
of carbon atoms for bonding with one another as well as with other atoms.
Most of the carbon compounds are poor conductors of electricity and have

low melting and boiling points. 4

(a) Write the molecular formula of first two members of homologous

series having functional group —Br. 1
(b) Given below are the formulae of some functional groups : 1
o —C-
A
Tk 0

{11 {n}
Write the name of these functional groups.

(¢ What would be observed on adding a 5% alkaline potassium
permanganate drop by drop to some warm ethanol taken in a test

tube ? State the role of KMnO 4 In the reaction and write the

chemical equation for the reaction involved. 2
OR

(¢) Write the name of the compound formed when ethanol is heated at
443 K temperature with excess of conc. H,SO,. What is the role of
conc. H,SO, in the reaction ? Write the chemical equation for the

reaction involved. 2

2231/3/2 27 P.T.O.
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38. Human digestive system is a tube running from mouth to anus. Its main
function is to breakdown complex molecules present in the food which
cannot be absorbed as such into smaller molecules. These molecules are
absorbed across the walls of the tube and the absorbed food reaches each

and every cell of the body where it is utilised for obtaining energy. 4

(a) Name the glands present in the buccal cavity and write the

components of food on which the secretion of these glands act upon. 1
(b) Two organs have a sphincter muscle at their exit. Name them. 1
(¢) What will happen if :

(1) mucus is not secreted by the gastric glands.

(1) Villi are absent in the small intestine. 2

OR

(¢) “Bile juice does not contain any enzyme, yet it has important roles in

digestion.” Justify the statement. 2

39. In a domestic circuit five LED bulbs are arranged as shown. The source
voltage 1s 220 V and the power rating of each bulb is marked in the circuit

diagram. Based on the following circuit diagram, answer the following

questions : 4
+ f;;x 3
. g 22 W, 220V l
= Q ,SA K, K,

-

IIW;V LW:EEY 1IW8V 11W,a8V
() o) o7 ()

(a) State what happens when 1

Lyl
H

(i) key K, is closed.
(i) key K, is closed.

2231/3/2 29 P.T.O.
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(b)
(c)

(©)

2231/3/2

Find the current drawn by the bulb B when it glows.

Calculate

(i) the resistance of bulb B, and

(i) total resistance of the combination of four bulbs B, C, D and E.
OR

What would happen to the glow of all the bulbs in the circuit when
keys K; and K, both are closed and the bulb C suddenly get fused ?

Give reason to justify your answer.

31
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General Instructions :

Read the following instructions very carefully and strictly follow them :
(1) This question paper consists of 39 questions. All questions are compulsory.
(i) This Question paper is divided into five sections — A, B, C, D and E.
(i11) Section A - Question Nos. 1 to 20 are Multiple Choice Questions. Each

question carries 1 mark.

(iv) Section B - Question Nos. 21 to 26 are Very Short Answer type
questions. Each question carries 2 marks. Answer to these questions

should be in the range of 30 to 50 words.

(v) Section C - Question Nos. 27 to 33 are Short Answer (SA) type
questions. Each question carries 8 marks. Answer to these questions

should be in the range of 50 to 80 words.

(vt) Section D - Question Nos. 34 to 36 are Long Answer type questions.
Each question carries § marks. Answer to these questions should be in

the range of 80 to 120 words.

(vii) Section E - Question Nos. 37 to 39 are of 3 source-based/case-based

units of assessment carrying 4 marks each with sub-parts.

(viit) There is no overall choice. However, an internal choice has been prouvided
in some sections. Only one of the alternatives has to be attempted in such

questions.
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1. =< mh e € e stttk s de rfufremen e = g 2 1
(A) NaCl+AgNO, - AgCl + NaNO,
(B) CaO +H,0 — Ca(OH),
(©) KNO, + H,S0, - KHSO, + HNO,

(D) ZnCl, +H,S - ZnS + 2HCI

2. =& R g stfifsean | g 3ame X ugeEnf 1

CaCO;—2 5 X'+ CO,

(A) fomm sz = (B) foreem
(C) =TT (D) AT 3T UfE

3. TmfcIRad H & YTehfceh H=hi T SISl T ; 1
(A) Torenm 3R Ao A (B) ®edl 3R foren™

(C) FRTaTHITAH TR AR 3T (D) TR A 3R el

4. hiE, T TR HIS U § ITIRT §H STl THRIS A6 3 1
(A) €9 T GeT (B) dfnT et
(C) forstep =i (D) T T
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SECTION - A (20 x 1 = 20)

In this section, Question Nos. 1 to 20 are Multiple-Choice Questions.

All questions are compulsory.
1.  Which one of the following reactions is different from the remaining three ? 1
(A) NaCl+AgNO4; — AgCl + NaNO,
B) CaO + H,0 —» Ca(OH),,
(C) KNO4 + H,SO, - KHSO, + HNO,

(D) ZnCl, + H,S — ZnS + 2HCI

2. Identify the product X’ obtained in the following chemical reaction : 1

CaCO,—2 5 X'+ CO,

(A) Quick lime (B) Gypsum
(C) Lime Stone (D) Plaster of Paris
3. Select a pair of natural indicator from the following : 1

(A) Litmus and methyl orange
(B) Turmeric and Litmus
(C) Phenolphthalein and methyl orange

(D) Methyl orange and Turmeric

4. A chemical compound used in glass, soap and paper industries is 1
(A) Washing Soda (B) Baking Soda
(C) Bleaching Powder (D) Common Salt

2231/3/3 5 P.T.O.
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5. The products obtained when Lead nitrate is heated in a boiling tube. 1
(A) PbO, N,O and O, (B) NO, PbO and O,
(C) Pb(NO,), and O, (D) NO,, PbO and O,

6. Identify a group of the unsaturated hydrocarbons from the following : 1

(A) Propane, Ethene, Butyne
(B) Ethene, Propane, Hexane
(C) Cyclohexane, Methane, Ethane

(D) Butyne, Ethene, Propyne

7. The structural formula of Cyclohexane is 1
: H
b o
H-- -1
Hetp—¢-H H-. / ) .~H
72N o 7,
A H-C "-H (B) N /
Lc_ {('-—H
N/ el — €
gl =— g ( 11
Hep_p-H
C=¢ ] [{;’ \‘E ’
H-H:{’;f \:;‘1:_,41 - \\ /,-}f -
©) - : (D)
HT s C—
o | |
(=t 1
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8.  Which of the following statement (s) is (are) true about human heart ?

()

(b)

(©)

(d)

(A)

©)

Right atrium receives oxygenated blood from lungs through

pulmonary artery.

Left atrium transfers oxygenated blood to left ventricle which sends

it to various parts of the body.

Right atrium receives deoxygenated blood from different parts of the

body through vena cava.

Left atrium transfers oxygenated blood to aorta which sends it to

different parts of the body.
(b) only (B) (a)and (d)

(b) and (c) (D) (b) and (d)

9. In an experiment to study independent inheritance of two separate traits :

shape and colour of seeds, the ratio of the different combinations in F,

progeny would be
A 1:3 B) 1:2:1
) 9:3:3:1 D 9:1:1:3

10. Select from the following a plant hormone which promotes cell division.

(A)

Gibberellins (B) Auxins

(C) Abscissic Acids (D) Cytokinins

2231/3/3
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11.

12.

13.

14.

Offsprings formed as a result of sexual reproduction produce more

variations because 1
(A) genetic material is contributed by many parents.
(B) sexual reproduction is a lengthy process.

(C) genetic material is contributed by two individuals of same species to

produce a new generation.

(D) DNA copying is not accompanied by the creation of cellular

apparatus.
Sex determination depends upon the environment in 1
(A) Birds (B) Amphibians
(C) Reptiles (D) Fishes

In case of four wires of same material, the resistance will be minimum if

the diameter and length of the wire respectively are 1
(A) D/2 and L/4 (B) D/4 and 4L
(C) 2D and L (D) 4D and 2L
In the given circuit the total resistance between X and Y is : 1

X 210 3 02 602

B—AAAA———AAAA, AAPH
X
il ——)

A 12Q B) 4Q
C) 6Q D) 10
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15.

16.

Consider the following statements about ozone : 1
(a) Ozone is poisonous gas.

(b) Ozone shields the earth’s surface from the infrared radiation from

the sun.
(¢) Ozone is a product of UV radiations acting on oxygen molecule.

(d) At the lower level of the earth’s atmosphere, ozone performs most

essential function.

The correct statements are

(A) (a) and (b) (B) (a) and (¢

(C) (b) and (o) (D) (b) and (d)

A food chain will be more advantageous in terms of energy if it has 1
(A) 2 trophic levels (B) 3 trophic levels

(C) 4 trophic levels (D) 5 trophic levels

Q. 17 to 20 consists of two statements — Assertion (A) and Reason (R),

answer these questions selecting the appropriate option given below :
(A) Both (A) and (R) are true and (R) is the correct explanation of (A).
(B) Both (A) and (R) are true and (R) is not correct explanation of (A).
(C) (A) is true, but (R) is false.

(D) (A) 1s false, but (R) is true.

2231/3/3 13 P.T.O.
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17. Assertion (A) : Red light signals are used to stop the vehicles on the road. 1

Reason (R) : Red coloured light is scattered the most so as to be visible

from a large distance.

18. Assertion (A) : A piece of Zinc metal gets reddish brown coating when

kept in copper sulphate solution for some time. 1

Reason (R) : Copper is more reactive metal than Zinc.

19. Assertion (A) : Offsprings produced by asexual reproduction are

genetically similar to the parents. 1

Reason (R) : Asexual reproduction involves a single parent.

20. Assertion (A) : Producers are capable of using light energy from the sun

to make food available in an ecosystem. 1

Reason (R) : All food chains in an ecosystem start with a producer.

SECTION - B

Question Nos. 21 to 26 are very short answer type questions. Each

question carries 2 marks.

21. (a) Write the essential conditions for following reaction to take place and

name its types :
2AgCl— 2Ag + ClI,

(b) Complete the following chemical reaction in the form of a balanced

equation :
FeSO,—A 5 Fe,0y+ oo + ...... 2

2231/3/3 15 P.T.O.
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22.

22.

23.

24.

24.

25.
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22. (a) List any two pairs of visible contrasting characters of garden pea
plants used by Mendel for his experiments stating the dominant and

recessive characters in each pair. 2
OR

22. (b) In human beings, the probability of getting a male or a female child

1s 50%. Explain with the help of a flow diagram only. 2

23. Where are auxins synthesized ? How do they promote phototropism ? 2

24. (a) Draw a labelled diagram to show the pattern of magnetic field lines
produced due to a current carrying straight conductor. Mark on it
the direction of current in the conductor and the direction of

magnetic field lines. 2
OR

24. (b) Name the device used to magnetise a piece of magnetic material.
Draw a labelled diagram to show the arrangement used for the

magnetisation of a cylinder made of soft iron. 2

25. When do we say that a particular person is suffering from hypermetropia ?
List two causes of this defect. Name the type of lens used to correct this

defect. 2

2231/3/3 17 P.T.O.
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26. Give reasons for the following :

(a)
(b)

Food web is more stable than a food chain in an ecosystem.

A food chain should not have more than four to five trophic levels.

SECTION -C

Question Nos. 27 to 33 are short answer type questions. Each

question carries 3 marks.

27. (a)

(b)

Name the chemical reaction that occurs between iron (III) oxide and
aluminium metal. Write its balanced chemical equation. Why is this

reaction called displacement reaction ? Give one use of this reaction.
OR

A student is working in a laboratory with metal ‘E’ which is stored
under kerosene oil. Some how a small piece of this metal falls in a

beaker containing water and starts burning.
(1) Name the metal ‘E’.

(i1) Write chemical equation for the reaction when metal ‘E’ reacts
with water. State the nature (acidic/basic/neutral) of the

product obtained.

(i11) Name the process by which this metal ‘E’ is obtained from its

molten chloride.

28. State reasons for the following :

()
(b)
(©)

2231/3/3

Zinc oxide is an amphoteric oxide.
Calcium starts floating when immersed in water.

In the reactions of nitric acid with metals, generally hydrogen gas is

not evolved.
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29. We water the soil but it reaches the topmost leaves of the plants. Explain

in brief the process involved. 3

30. Write the name and location of a hormone which helps a person to
respond when chased by a dog. Mention the responses in the body which

help him to deal with the situation. 3

31. Explain in brief the function of an electric fuse in a domestic circuit. An
electric heater of current rating 3 kW; 220 V is to be operated in an
electric circuit of rating 5 A. What is likely to happen when the heater is

switched ‘ON’ ? Justify your answer with necessary calculation. 3

32. Draw a schematic diagram of a circuit consisting of a battery of four dry
cells of 1.5 V each, a 2 Q resistor, a 6 Q resistor, 16 Q resistor and a plug
key all connected in series. Put an ammeter to measure the current in the
circuit and a voltmeter across the 16 Q resistor to measure potential

difference across its two ends. Use Ohm’s law to determine 3
(a) ammeter reading, and

(b) voltmeter reading when key is closed.

2231/3/3 21 P.T.O.
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33. Name and explain the phenomenon of light due to which the path of a
beam of light becomes visible when it enters a smoke filled room through
a small hole. Also state the dependence of colour of the light we receive on
the size of the particle of the medium through which the beam of light
passes. 3

SECTION -D
Question Nos. 34 to 36 are long answer type questions. Each question
carries 5 marks.

34. (a) (1) Draw a ray diagram to show the path of the refracted ray in
each of the following cases :
A ray of light incident on a concave lens
(1) parallel to its principal axis, and
(2) 1s directed towards its principal focus.

(1) A 4 cm tall object is placed perpendicular to the principal axis of
convex lens of focal length 24 cm. The distance of object from
the lens is 16 cm. Find the position and size of image formed. 5
OR

34. (b) (@) Draw a ray diagram to show the path of the reflected ray in
each of the following cases :
A ray of light incident on a convex mirror
(1) parallel to its principal axis, and
(2) 1s directed towards its principal focus

(11) A 1.5 cm tall candle flame is placed perpendicular to the

principal axis of a concave mirror of focal length 12 cm. If the
distance of the flame from the pole of the mirror is 18 cm, use

mirror formula to determine the position and size of the image
formed. 5

35. (a) Name any two sexually transmitted diseases.
(b) Prenatal sex determination is prohibited by law. Why ?

(¢) Name any three methods of contraception stating one side-effect of
each. 5

OR

2231/3/3 23 P.T.O.
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35. (a)
(b)
(c)

36. (a)

36. (b)
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35. (a) Name a unisexual and a bisexual flower.
(b) Define cross pollination. State how it is carried out.

(¢) Observe the diagram given below and name the parts marked as ‘A’
and ‘B’. 5

Mention the function of each of these parts.

36. (a) (1) Five solutions A, B, C, D and E when tested with pH paper
showed pH as 4, 1, 13, 7 and 10 respectively. Which solution is :

(1) Strongly acidic (2) Strongly alkaline (3) Weakly acidic
(4) Neutral and (5) Weakly alkaline ? Arrange the solutions in

increasing order of H* ion concentration.

(i1) Write the name and formula of (1) an acidic salt and (2) a basic
salt giving the name of the parent acid and parent base used to

form the salt in each case. 5
OR

36. (b) Name and state in brief the process which is used to prepare sodium
hydroxide from sodium chloride. In this process along with the main
product two gases ‘X’ and Y’ are also given off at the two electrodes.
Name X’ and Y’ specifying the name of their respective electrode at
which each gas is obtained. One of these gases when reacts with dry
calcium hydroxide produces a compound 7 which is widely used in
water treatment plants and textile industries. Name 7Z and write

chemical equation for the reaction involved in its formation. 5
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SECTION - E

Question Nos. 37 to 39 are Case/Source based questions. Each question

carries 4 marks.

37. More than three million carbon compounds have been discovered in the
field of chemistry. The diversity of these compounds is due to the capacity
of carbon atoms for bonding with one another as well as with other atoms.
Most of the carbon compounds are poor conductors of electricity and have

low melting and boiling points. 4

(a) Write the molecular formula of first two members of homologous

series having functional group —Br. 1

(b) Given below are the formulae of some functional groups : 1
11 C'
-, i
. )

{1 i11]
Write the name of these functional groups.

(¢) What would be observed on adding a 5% alkaline potassium
permanganate drop by drop to some warm ethanol taken in a test

tube ? State the role of KMnO 4 In the reaction and write the

chemical equation for the reaction involved. 2
OR

(¢) Write the name of the compound formed when ethanol is heated at
443 K temperature with excess of conc. H,SO,. What is the role of

conc. H,SO, in the reaction ? Write the chemical equation for the

reaction involved. 2

2231/3/3 27 P.T.O.
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SHITTehT ek Tl & ST SERhT TN SHotl YT L o foTT feram ST 2 |

(a) Y@ &1 H ufeyd Uit o1 a1 fetfau aum Wi & 36 9 1 Seord hifer fom
S U o e R R € |
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38. Human digestive system is a tube running from mouth to anus. Its main
function is to breakdown complex molecules present in the food which
cannot be absorbed as such into smaller molecules. These molecules are
absorbed across the walls of the tube and the absorbed food reaches each

and every cell of the body where it is utilised for obtaining energy. 4

(a) Name the glands present in the buccal cavity and write the

components of food on which the secretion of these glands act upon. 1
(b) Two organs have a sphincter muscle at their exit. Name them. 1
(¢) What will happen if :

(1) mucus is not secreted by the gastric glands.

(1) Villi are absent in the small intestine. 2

OR

(¢) “Bile juice does not contain any enzyme, yet it has important roles in

digestion.” Justify the statement. 2

39. In a domestic circuit five LED bulbs are arranged as shown. The source
voltage is 220 V and the power rating of each bulb is marked in the circuit

diagram. Based on the following circuit diagram, answer the following

questions : 4
+ A
"":f"; l.;:."‘ 1L|'r l'.ll:rl-.l '|..'

e 22 W, 22

o CPa K b,

A 1IIW:56V 11W:56V 11W;56V 11W;85V

807 o) o) ()

(a) State what happens when 1

i) key K, is closed.

() key K, is closed.
2231/3/3 29 P.T.O.
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(b)
(c)

(©)

2231/3/3

Find the current drawn by the bulb B when it glows.

Calculate

(i) the resistance of bulb B, and

(i) total resistance of the combination of four bulbs B, C, D and E.
OR

What would happen to the glow of all the bulbs in the circuit when
keys K; and K, both are closed and the bulb C suddenly get fused ?

Give reason to justify your answer.

31
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Marking Scheme
Strictly Confidential
(For Internal and Restricted use only)
Secondary School Examination, 2024
SUBJECT NAME SCIENCE (086) (Q.P. CODE 31/3/1)

General Instructions:; -

Y ou are aware that evaluation is the most important process in the actual and correct
assessment of the candidates. A small mistake in evaluation may lead to serious
problems which may affect the future of the candidates, education system and teaching
profession. To avoid mistakes, it is requested that before starting evaluation, you must
read and understand the spot evaluation guidelines carefully.

“Evaluation policy is a confidential policy as it is related to the confidentiality of the
examinations conducted, Evaluation done and several other aspects. Its’ leakage to
public in any manner could lead to derailment of the examination system and affect the
life and future of millions of candidates. Sharing this policy/document to anyone,
publishing in any magazine and printing in News Paper/Website etc may invite action
under various rules of the Board and IPC.”

Evaluation is to be done as per instructions provided in the Marking Scheme. It should
not be done according to one’s own interpretation or any other consideration. Marking
Scheme should be strictly adhered to and religiously followed. However, while
evaluating, answers which are based on latest information or knowledge and/or are
innovative, they may be assessed for their correctness otherwise and due marks be
awarded to them. In class-X, while evaluating two competency-based questions, please
try to understand given answer and even if reply is not from marking scheme but
correct competency is enumerated by the candidate, due marks should be awarded.

The Marking scheme carries only suggested value points for the answers

These are in the nature of Guidelines only and do not constitute the compl ete answer.
The students can have their own expression and if the expression is correct, the due
marks should be awarded accordingly.

The Head-Examiner must go through the first five answer books evaluated by each
evaluator on the first day, to ensure that evaluation has been carried out as per the
instructions given in the Marking Scheme. If there is any variation, the same should be
zero after delibration and discussion. The remaining answer books meant for evaluation
shall be given only after ensuring that there is no significant variation in the marking of
individual evaluators.

Evaluators will mark( v ) wherever answer is correct. For wrong answer CROSS ‘X”
be marked. Evaluators will not put right (v')while evaluating which gives an impression
that answer is correct and no marks are awarded. Thisis most common mistake which
evaluators are committing.

If aquestion has parts, please award marks on the right-hand side for each part. Marks
awarded for different parts of the question should then be totaled up and written in the
left-hand margin and encircled. This may be followed strictly.

If aquestion does not have any parts, marks must be awarded in the left-hand margin
and encircled. This may aso be followed strictly.

If a student has attempted an extra question, answer of the question deserving more
marks should be retained and the other answer scored out with a note “Extra Question”.
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10 | No marksto be deducted for the cumulative effect of an error. It should be penalized
only once.

11 | A full scaleof marks _ 0-80 (example O to 80/70/60/50/40/30 marks as given
in Question Paper) has to be used. Please do not hesitate to award full marksif the
answer deservesit.

12 | Every examiner has to necessarily do evaluation work for full working hoursi.e., 8
hours every day and evaluate 20 answer books per day in main subjects and 25 answer
books per day in other subjects (Details are given in Spot Guidelines).Thisisin view of
the reduced syllabus and number of questions in question paper.

13 | Ensurethat you do not make the following common types of errors committed by the
Examiner in the past:-

Leaving answer or part thereof unassessed in an answer book.

Giving more marks for an answer than assigned to it.

Wrong totaling of marks awarded on an answer.

Wrong transfer of marks from the inside pages of the answer book to the title page.
Wrong question wise totaling on the title page.

Wrong totaling of marks of the two columns on thetitle page.

Wrong grand total.

Marks in words and figures not tallying/not same.

Wrong transfer of marks from the answer book to online award list.

Answers marked as correct, but marks not awarded. (Ensure that the right tick mark is
correctly and clearly indicated. It should merely be aline. Same iswith the X for
incorrect answer.)

Half or apart of answer marked correct and the rest as wrong, but no marks awarded.

14 | While evauating the answer books if the answer isfound to be totally incorrect, it
should be marked as cross (X) and awarded zero (O)Marks.

15 | Any unassessed portion, non-carrying over of marks to the title page, or totaling error
detected by the candidate shall damage the prestige of al the personnel engaged in the
evaluation work as aso of the Board. Hence, in order to uphold the prestige of all
concerned, it is again reiterated that the instructions be followed meticulously and
judicioudly.

16 | The Examiners should acquaint themselves with the guidelines given in the “Guidelines
for Spot Evaluation” before starting the actual evaluation.

17 | Every Examiner shall also ensure that all the answers are evaluated, marks carried over
to the title page, correctly totaled and written in figures and words.

18 | The candidates are entitled to obtain photocopy of the Answer Book on request on

payment of the prescribed processing fee. All Examiners/Additional Head
Examiners/Head Examiners are once again reminded that they must ensure that
evaluation is carried out strictly as per vaue points for each answer as given in the
Marking Scheme.
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MARKING SCHEME
Secondary School Examination, 2024
SCIENCE (Subject Code-086)

[ Paper Code: 31/3/1]

Maximum Marks: 80

EXPECTED ANSWER/VALUE POINTS

Q. Marks | Total
No.
Marks
SECTION A
1 (A) / Quick lime 1 1
2 (B) / Turmeric and litmus 1 1
3 (A) / Washing Soda 1 1
4 | (B) 1 1
5 (A)/1,6,2and 3 1 1
6 |(B)/C7H14 1 1
7 (B) / CaO + HpO — Ca(OH)» 1 1
8 (D) / Cytokinins 1 1
9 (C) / Petadsonly 1 1
10 |(©)/9:3:3:1 1 1
11 | (©)/(b) and (c) 1 1
12 | (A)/Ttand Tt 1 1
13 | (D) / Dispersion, refraction and internal reflection 1 1
14 | (D)/4D and 2L 1 1
15 | (A)/ 2 trophic levels 1 1
16 | (B)/(a) and(c) 1 1
17 | (C)/ Assertion (A) istrue, but Reason (R) isfalse 1 1
18 | (A) / Both Assertion (A) and Reason (R) are true, and Reason (R) isthe 1 1
correct explanation of Assertion (A)
19 | (C)/ Assertion (A) istrue, but Reason (R) isfalse 1 1
20 | (B)/Both Assertion (A) and Reason (R) aretrue, but Reason (R) is not 1 1
the correct explanation of Assertion (A).
SECTION B
21 |e¢ 2Mg+0O2 > 2MgO Y2
e Magnesium oxide 1/2
e Type— Combination reaction 72
e Reason : Two or more substances combine to form a single product . 1
2
22 | e Synthesized at shoot tip/root tip Y
e When light falls on one side of the plant, auxin diffuses towards the
shady side of shoot. The concentration of auxin stimulatesthecellsto | 1%2
grow longer on the side of shoot which is away from light. Thus plant
appears bent towards light/phototropism. 2
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23 (@) 2 visible characters of garden peaplants are:
e Tallness (dominant), Dwarfness (recessive) Yot Yo
e Yellow seeds (dominant) , Green seeds (recessive) Yo+
(Any other pair)
OR
(b)
Q)( \?j ( —>< ;\) Paronts 1/2
rmﬂn: “'Hm'\\
&% o N
g ! / \
— o — <t _ 1
D O E 2 Gw== | "
o< |—
N -— — _}\"'--V .[—~>__
X)) XX SOE\S) 4
temale Chil M’:;;‘"“ﬂ 1/2
24 ¢ When he cannot see nearby objects distinctly but can see far Ys
object clearly.
e 2 causes.
Focal length of the eye lensistoo long. Ya
Eyeball becomes too small. Y%
e Convex or Converging lens Y2
25 | (9
Y ‘ \‘}q CURRINT
Fig.12.6(a) on page 199-NCERT
Diagram: 1
Directions of current and magnetic field: | 1,41,
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OR

(b)
e Permanent magnet / Current carrying solenoid/ Electromagnet

Current Carrying Solenold

<({{{{{{{{{ &~
| . K
l('}—v—m—[_)

Fig-12.11, page no.201-NCERT

lran Rod

Ye

Diagram: 1
Labelling: Yo
26 | e Decomposers are the microorganisms that break-down the complex 1
organic substances into simple inorganic substances.
Consequences:
(i) No replenishment of soil
(i) Foul smell
(iii) Breeding of flies
(iv)Accumulation of dead plants and animals in the Vot e
environment.
(v) Norecycling of nutrients
(Any two or any other )
SECTIONC
27 | () Amphoteric oxide (zinc oxide) reacts with acids as well as bases to 1
produce salt and water.
(b) If kept in open, sodium metal reacts vigorously with air and catches 1
fire/ kerosene oil does not allow sodium to come in contact with air and
catch fire.
(c) Nitric acid isa strong oxidising agent. It oxidises the hydrogen
produced in the reaction to water. 1

28

(@
(1) Reduction Process- Roasting

Yo
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Reason- Mercury has low reactivity.

(i) Reduction Process- Roasting
Reason- Copper has low reactivity.

(i)  Reduction Process- Electrolytic Reduction.
Reason- Sodium has high reactivity

OR
(b)
(i) Change in appear ance - White to black colour.
Reason- Silver sulphide isformed.

(if) Change in appear ance — Reddish brown to green colour.
Reason- Basic Copper Carbonate is formed.

(iii) Change in appearance- Grey to brown colour.
Reason- Rust (iron oxide) isformed.

Yo

Yo
Yo

Yo

Yo

Yo+l

Yo+l

Yot Y2

29

When water islost through stomatain the leaves by transpiration, it creates
a suction force/transpiration pull, due to which water is pulled up through
xylem of the roots to the leaves.

1+1+1

30

(a8 Constituents:- Brain and Spinal cord.

Protection:- Brain — Bony box/in skull/Cranium/fluid filled balloon.
Spinal Cord — Vertebral column.

(b) Limitations :

(i) They will reach only those cells that are connected by nervous tissue,
not each and every cell in the animal body.
(if) Once an electrical impulse is generated in a cell and transmitted, the
cell will take some time to reset its mechanisms before it can generate and
transmit a new impulse.

(Any other)

Yot Y2

Yo
Yo

Yo

Yo

31

» Scattering of light / Tyndall effect

» When abeam of light strikes fine particles of smoke, it is reflected
diffusely and the path of the light becomes visible.

 Very fine particles scatter mainly blue light/short wavel ength colours
while the particles of larger size scatter longer wavel ength colours.

32

* |t prevents damage to the appliances and the electrical circuit from
overloading and short circuiting.
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HereP=3kW =3000W,V =220V, | =7

P=VI Y
3000 W
| = P =13:63A 1
vV 220V
13-63 A > Rating of fuse 5 A, therefore fuse wire will melt and break the V2
circuit.
33 | (a) Ohm’s Law — The potential difference, ¥, across the ends of a given 1
metallic wire in an electric circuit is directly proportional to the current
flowing through it, provided its temperature remains the same.
1 1 1 1
Formula :- — = —+—+— 1
p R Ry Ry
R 3R
0 R+y="
2 2 1
SECTION D
*l@ o
(1) SolutionB
(2) SolutionC
(3) Solution A
(4) SolutionD x5
(5) Solution E

Increasing Order of H* ion concentration .- C<E<D<A <B

(i) (1) Acidic salt : Ammonium chloride; NH4Cl

Parent Acid-Hydrochloric acid /HCI
Parent Base- Ammonium hydroxide/(NH4OH)

(2) Basic sat : Sodium Carbonate; NapCO3
Parent Acid-Carbonic acid / HoCO3

Parent Base- Sodium hydroxide/ NaOH
( Or Any other)

Yo

Ya

Yo

Yo

Yo
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OR
(b) Chlor — alkali process;
e When electricity is passed through NaCl (ag) it decomposes to
form sodium hydroxide / 2NaCl + 2H,0 - 2NaOH+Cl>+H»

e X-Clpgas —at anode
* Y -—Hjpgas — a cathode
(award marksif explained by diagram)

» Z - Bleaching powder / CaOCly / Calcium Oxychloride
e Ca(OH)2 + Clp —— CaOClo + HoO
(Bleaching powder)

Ye

Yot 12
Yo+ Y2

Yo

35

(@
(i) * Sporesare reproductive structures that detach from the parent and
giveriseto anew individual.

e Sporangium / Sporangia

e Covered by thick walls to protect them from unfavourable
conditions.

* Rhizopus

(if)
e Plantswhich have lost the capacity to produce seeds.
e Plantsbear flowers and fruits earlier so as to reduce
time.
e Toget genetically similar plants.
(Any two or any Other)
e Methods
Layering and Grafting
(Or any other)

OR
(b)
(i)
e A —MaeGerm Cell/Mae Gamete; B — Pollen tube;
C — Female Germ Cell / Female Gamete.
e B cariesA (male germ cell) and this germ cell fuseswith C
(female germ cell) to form a zygote.
e Significance: Zygote is capable of growing into a new plant.

Yo

Yo

Yo

Yo

1+1

X3

Yo
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(i) Post fertilisation changes: -

Zygote divides many times to form an embryo within ovule.
Ovuleis converted into seed

Ovary ripensinto fruit.

Petals, Sepals, Stamens, Style and Stigma may shrivel/dry
and may fal off.

x4

36

@ ()
(1)

-~
H"F U L
Fy J k Fy
Fig.9.13(h)-Page-153, NCERT.

(2

Y

F:l || l., F;"‘u

Fig.9.14(b)-Page-154, NCERT.

(Note:- Deduct half mark if directions of rays are not shown)

(i) Givenu=-16cm,f=+24cm,h=4cm

Formulaused = — 1 = 1
v u f
1 1 _ 1
v (-16) +24
1 -1
v 48

Yo
Yo
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=—-48cm

Image is formed on the same side as the object

h' v
==
h u
h' _ -48
4 —-16
h' =12 cm
OR
(b) (i)
1)
o
fr“’
Incidernt Ray 5 I-'H
= I;,:-_\ &
b .
- L
i
k-
2
ncident Ray
Reflected Ray £ _:
L i e
2 F C

(Note:- Deduct half mark if directions of rays are not shown)

Ya

Yo
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(i) Heref=—12cm,u=-18cm,v=?h=15cm,h'=? Y2
Y.
Mirror formula 1 + 1- 1 ’
v u f
111
v fou
1 1
-12cm —-18 cm
o
T 36
. v=-36cm 1
_h
MR T T ¥
h' _ (=36)
1.5  (-18)
I _
h'=-30cm 1,
SECTIONE
37 | (@ . CH3Br 7
. CoHgBr Ye
b () Aldehyde if
(i) Ketone 2
(© . The colour of KMnOg4 disappears, Zz
. KMnOy4 acts as an oxidizing agent.
Alkaline KMnO4,+Heat
. CH3CH2OH > CH3COOH 1
OR
(© . Ethene Yo
Conc. H2SO4 acts as a dehydrating agent. Yo
Conc.H,SO, + Heat
s CoH5OH > CHp = CHyp + HoO
2Hs5 243K 2 2+H2 1
38 | (a Salivary glands; Starch / Carbohydrate Yot Yo
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(b) Stomach, Anus Yo +15
(©)
(i) Theinner lining of the stomach will not be protected from the action 1
of acid.
(i1) Digested food will not be absorbed. / Absorption areawill be reduced 1
OR
(©)
e Emulsification of fats. 1
e Acidic medium hasto be made akaline for the pancreatic 1
enzymes to act.
39 | (@
() Bulb A glows Y%
(i) Bulbs B, C, D and E glow Y%
(b) P=VxI 7
11 =55 x| y
| = % =0.2amp 2
© Vv 55V
() Resistanceof bubB,R=— = —— =275Q 1
I 0.2 A
VZ
(alternative formulafor calculation R = 7)
(i) Tota resistance of the series combination of four bulbs 1

=4 x275=1100Q

OR
(©
. Bulb A will keep glowing with same brightness.
. Other bulbsi.e., B, D and E will stop glowing.
. Reason:

Yo

Yo
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Asthe bulbs B, D and E are connected in series with fused bulb C, so no
current flows through them and thus they will not glow. The bulb A
remains unaffected asit is connected in parallel combination.

*kkk
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Marking Scheme
Strictly Confidential
Secondary School Examination, 2024
SUBJECT NAME SCIENCE (086) (Q.P. CODE 31/3/2)

Generd Instructions: -

1 Y ou are aware that evaluation is the most important process in the actual and correct
assessment of the candidates. A small mistake in evaluation may lead to serious
problems which may affect the future of the candidates, education system and teaching
profession. To avoid mistakes, it is requested that before starting evaluation, you must
read and understand the spot evaluation guidelines carefully.

2 “Evaluation policy is a confidential policy as it is related to the confidentiality of the
examinations conducted, Evaluation done and several other aspects. Its’ leakage to
public in any manner could lead to derailment of the examination system and affect the
life and future of millions of candidates. Sharing this policy/document to anyone,
publishing in any magazine and printing in News Paper/Website etc may invite action
under various rules of the Board and IPC.”

3 Evauation isto be done as per instructions provided in the Marking Scheme. It should
not be done according to one’s own interpretation or any other consideration. Marking
Scheme should be strictly adhered to and religiously followed. However, while
evaluating, answers which are based on latest information or knowledge and/or are
innovative, they may be assessed for their correctness otherwise and due marks be
awarded to them. In class-X, while evaluating two competency-based questions, please
try to understand given answer and even if reply is not from marking scheme but
correct competency is enumerated by the candidate, due marks should be awarded.

4 The Marking scheme carries only suggested value points for the answers

These are in the nature of Guidelines only and do not constitute the compl ete answer.
The students can have their own expression and if the expression is correct, the due
marks should be awarded accordingly.

5 The Head-Examiner must go through the first five answer books evaluated by each
evaluator on the first day, to ensure that evaluation has been carried out as per the
instructions given in the Marking Scheme. If there is any variation, the same should be
zero after delibration and discussion. The remaining answer books meant for evaluation
shall be given only after ensuring that there is no significant variation in the marking of
individual evaluators.

6 Evaluators will mark( V) wherever answer is correct. For wrong answer CROSS ‘X”
be marked. Evaluators will not put right (v')while evaluating which gives an impression
that answer is correct and no marks are awarded. Thisis most common mistake which
evaluators are committing.

7 If aquestion has parts, please award marks on the right-hand side for each part. Marks
awarded for different parts of the question should then be totaled up and written in the
left-hand margin and encircled. This may be followed strictly.

8 If aquestion does not have any parts, marks must be awarded in the left-hand margin
and encircled. This may also be followed strictly.
9 If astudent has attempted an extra question, answer of the question deserving more

marks should be retained and the other answer scored out with a note “Extra Question”.
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10

No marksto be deducted for the cumulative effect of an error. It should be penalized
only once.

11

A full scale of marks___ 0-80 (example O to 80/70/60/50/40/30 marks as given
in Question Paper) has to be used. Please do not hesitate to award full marksif the
answer deservesit.

12

Every examiner has to necessarily do evaluation work for full working hoursi.e., 8
hours every day and evaluate 20 answer books per day in main subjects and 25 answer
books per day in other subjects (Details are given in Spot Guidelines).Thisisin view of
the reduced syllabus and number of questions in question paper.

13

Ensure that you do not make the following common types of errors committed by the
Examiner in the past:-

Leaving answer or part thereof unassessed in an answer book.

Giving more marks for an answer than assigned to it.

Wrong totaling of marks awarded on an answer.

Wrong transfer of marks from the inside pages of the answer book to the title page.
Wrong question wise totaling on the title page.

Wrong totaling of marks of the two columns on the title page.

Wrong grand total.

Marks in words and figures not tallying/not same.

Wrong transfer of marks from the answer book to online award list.

Answers marked as correct, but marks not awarded. (Ensure that the right tick mark is
correctly and clearly indicated. It should merely be aline. Same is with the X for
incorrect answer.)

Half or a part of answer marked correct and the rest as wrong, but no marks awarded.

14

While evaluating the answer books if the answer is found to be totally incorrect, it
should be marked as cross (X) and awarded zero (O)Marks.

15

Any unassessed portion, non-carrying over of marksto the title page, or totaling error
detected by the candidate shall damage the prestige of al the personnel engaged in the
evaluation work as also of the Board. Hence, in order to uphold the prestige of all
concerned, it is again reiterated that the instructions be followed meticulously and
judicioudly.

16

The Examiners should acquaint themselves with the guidelines given in the “Guidelines
for Spot Evaluation” before starting the actual evaluation.

17

Every Examiner shall aso ensure that all the answers are evaluated, marks carried over
to the title page, correctly totaled and written in figures and words.

18

The candidates are entitled to obtain photocopy of the Answer Book on request on
payment of the prescribed processing fee. All Examiners/Additional Head
Examiners/Head Examiners are once again reminded that they must ensure that
evaluation is carried out strictly as per value points for each answer as given in the
Marking Scheme.

X SCIENCE 31/3/2 PAGE 2




MARKING SCHEME
Secondary School Examination, 2024
SCIENCE (Subject Code-086)

[ Paper Code: 31/3/2]

Maximum Marks: 80

z0

EXPECTED ANSWER/VALUE POINTS

Marks

Total
Marks

SECTION A

(A) / Washing Soda

(B) / CaO + H0 — Ca(OH);

(A) / Quick lime

(B) / Turmeric and litmus

(B)/ C7H14

(C) / CH3COOCoHs5 + NaOH —» CH3COONa + CoH50H

(A)/1,6,2and 3

(D) / 4D and 2L

OO N O O WINF

(D) / Reduce CFC production

(D) / They reproduce asexually

(A)/ Ttand Tt

el
NIFR|O

(€) / (b) and ()

[
w

(C) / Petas only

=
D

(D) / Dispersion, refraction and internal reflection

=
(62}

(B) /(a) and ()

=
(o)}

(A) / 2 trophic levels

=
\‘

(A) / Both Assertion (A) and Reason (R) are true and Reason (R) is the correct
explanation of Assertion (A)

RIRrRRRRRRRRR R RRRRP

RIRrRRRRRRRRR R RRRRP

=
o

(C) / Assertion (A) istrue, but Reason (R) isfalse

H

H

=
©

(D) / Assertion (A) is false but Reason (R) istrue.

H

H

N
o

(B) / Both Assertion (A) and Reason (R) aretrue, but Reason (R) is not the correct
explanation of Assertion (A)

H

H

SECTION B

21

@ BaCl2 (ag)+ NapSO4(ag) — 2NaCl (ag)+ BaSO4 (g)

(b)
e Double displacement reaction
e Asexchange of ionstakes place

Yo
Yo

22

e When he can not see nearby objects distinctly but can see far object clearly.
e 2 cCauses:

Focal length of the eyelensistoo long.

Eyeball becomes too small.
e Convex or Converging lens

Ya

Yo
Yo
Yo
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23 | (@
v A e
‘L J % CURBINT
Magaotic Flel Lies r="_ " I
! /.\ 1
Fig.12.6(a) on page 199-NCERT
Diagram: 1
Directions of current and magnetic field: ALYA
OR
(b)
e Permanent magnet / Current carrying solenoid/ Electromagnet 1%
[ ]
(uvtzu Carrying Solenold
<({{{{{{{{{ &
o s
Fig-12.11, page no.201-NCERT
Diagram: 1
Labelling: 1%
24 | e Synthesized at shoot tip/root tip Yo
e When light falls on one side of the plant, auxin diffuses towards the shady side of
shoot. The concentration of auxin stimulates the cells to grow longer on the side of
shoot which is away from light. Thus, plant appears bent towards light/phototropism. |  1%2
25 | (&) 2visble characters of garden peaplants are:
e Tallness (dominant), Dwarfness (recessive) Yot o
Yot o

o Ydlow seeds (dominant), Green seeds (recessive)

(Any other pair)
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OR

(b)
Qf( \‘(v < > 4 Xw Porents 15
A oY ¥, e
/ \ \\
(’——X’_ _> ( \( \ &/\5 K-:?‘,\— ) Gametes ]/2
e
Q«vb Q>< 79 \651-) & s
temale Chilg "":;.‘""" o )
26 | « Biodegradable — Substances that are broken down by biological processes. Yo
 Non-biodegradable —Substances that are not broken down by biological processes. Y2
Classification:-
Biodegradable — Newspaper, Vegetable peels Y2
Non-biodegradable — Glass bottles, Polythene bags Ve
SECTIONC
27 (@
(1) Reduction Process- Roasting Ya
Reason- Mercury has low reactivity. Yo
(i) Reduction Process- Roasting Yo
Reason- Copper has low reactivity. Ya
(ili)  Reduction Process- Electrolytic Reduction. Yo
Reason- Sodium has high reactivity Yo
: OR
(b)
(i) Change in appearance - White to black colour. YotYs

Reason- Silver sulphide is formed.
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(if) Change in appear ance — Reddish brown to green colour.
Reason- Basic Copper Carbonate is formed.

(iif) Change in appear ance- Grey to brown colour.
Reason- Rust (iron oxide) is formed.

Yot

Yo+

28

Na=2,81,0=26

e Cation — Sodium
Anion — Oxide

YotYs

Yo
Yo

29

@ Constituents:- Brain and Spinal cord.

Protection:- Brain— Bony box/in skull/Cranium/fluid filled balloon
Spinal Cord — Vertebral column.

(b) Limitations :

(i) They will reach only those cells that are connected by nervous tissue, not each and

every cell in the animal body.

(if) Once an electrical impulse is generated in a cell and transmitted, the cell will take

some time to reset its mechanisms before it can generate and transmit a new impulse.
(Any other)

Yo+ Y2

Yo
Yo

Ya

Ya

30

e Difference:

Aerobic Respiration Anaerobic Respiration

Utilises Oxygen Takes place in the absence of

Oxygen

Common pathway for aerobic and anaerobic respiration

Glucose — Pyruvate

Glucose—Pyruvate Presgnce of , Carbon dioxide+Water + Energy
2

Site — in mitochondria

Yo+

Yo

Yo

31

» It prevents damage to the appliances and the electrical circuit from overloading and
short circuiting.
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HereP=3kW =3000W,V =220V, | =7

P=VI Ya
I:E:3000W:13-63A 1
vV 220V
13-63 A > Rating of fuse 5 A, therefore fuse wire will melt and break the circuit. V2
32 |+ Scattering of light / Tyndall effect 1
* When a beam of light strikes fine particles of smoke, it is reflected diffusely and the
path of the light becomes visible. 1
* Very fine particles scatter mainly blue light/short wavelength colours while the
particles of larger size scatter longer wavelength colours. 1
33 e Each dectrical appliance has its own switch due to which each one can be 1
turned ON and OFF separately, as per their requirement.
¢ |f dueto some defect one electrical appliance stops working, then all other 1
appliances keep working.
e Each appliance has equal potential difference and draws the required amount of
current. 1
e Thetotal resistancein aparalel circuit is decreased.
(Any three)
SECTION E
34 @ (i)
(1)
1

Fig.9.13(b)-Page-153, NCERT.
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2

Fig.9.14(b)-Page-154, NCERT.

(Note:- Deduct half mark if directions of rays ar e not shown)

(i) Givenu=-16cm,f=+24cm,h=4cm

Formulausedi—izl
v u f
1 1 _ 1
v (-16) +24
1 -1
v 48
v=-48cm

Image is formed on the same side as the object

[ A
= =
i u

h' _ —48
4 -16

h' =12cm
OR

(b) (i)
)

~feflected Ray

\ o
Vel
S .r‘fﬁ
L
Incident Ray " \I.'
>

Ya

Ya

Ya

Yo
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(2)

Incident Ray

Reflected Ray

\
-7
™

(Note:- Deduct half mark if directions of rays are not shown)

(i) Heref=-12cm,u=-18cm,v=?h=15cm,h’'="?

Mirror formula l + l = 1
vV u f
1.1 1
f
_1 1
—12cm  -18 cm
- 1
" 36
S v=-36cm
h' v
m= — = -—
h u
R _ (=36)
15  (-18)
h'=-30cm

Ya

Ya

Yo

Yo
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35

@

(b)

When the rate of general body growth begins to slow down and reproductive
tissue begins to mature.

In boys — New thick hair growth on face, voice beginsto crack, penis begins to
enlarge and become erect.
(Any two)

Testis— Formation of sperms,
Secretion of hormone testosterone

Role of :

@

(i)

(iii)

(b)

(1) Vas deferens — Delivery of sperms from testesto urethra

(i)  Seminal vesicle — Provides nutrition to sperms /makes the
transport(movement) of sperms easier.

(ili)  Urethra— Common passage for sperms and urine.

(iv)  Scrotum — Providing required temperature for sperm formation

OR
(1) Ovary —
. Production of Estrogen hormone
. Production of female gamete /egg
Oviduct —
. Transfer of female gamete from the ovary to uterus
. Site of fertilisation
Uterus -
. Implantation of zygote
. Nourishment of the devel oping embryo

Structure of Placenta—
« Disc like structure embedded in the uterine wall connected to the embryo.

e It has villi on the embryo’s side and blood spaces on the mother’s side.

YotYs

Yo
Yo

ox 4

Ya

Ya

Ya

Ya

Ya

Ya

Yox 2
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Function :
* Provides alarge surface area for nutrients (glucose and oxygen) to pass from the 1
mother’s side to embryo, waste substances from embryo’s side to mother’s blood.
36 | (3 ()
(1) SolutionB
(2) SolutionC
(3) Solution A
(4) Solution D ¥%x5
(5) Solution E
Increasing Order of H ion concentration-C<E<D<A<B Yo
ii cidic salt : (Ammonium chloride %
(ii)(1) Acidic salt : (A [ hloride) NH4Cl %
Parent Acid-Hydrochloric acid /HCI
Parent Base- Ammonium hydroxide/(NHsOH) V2
(2) Basic salt : (Sodium Carbonate) NayCO3 Ve
Parent Acid-Carbonic acid / HoCO3 v,
Parent Base- Sodium hydroxide / NaOH
5
(Or Any other)
OR
(b) Chlor — alkali process; 1
e When electricity is passed through NaCl (ag) it decomposes to 1
form sodium hydroxide / 2NaCl + 2H>0 > 2NaOH+Cl>+H>
+ X -Clpgas— a anode Yok 1y
* Y —Hpgas— at cathode Yo+
(award marksif explained by diagram)
+ Z - Bleaching powder / CaOCly / Calcium Oxychloride Y2
* Ca(OH)2 + Clp —— CaOCl» + H20O 1
(Bleaching powder)
SECTION E
37 |[(@ - CH3Br Y
. CoHgBr V2
b () Aldehyde Zz
(i) Ketone 2
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(© . The colour of KMnO4 disappears, Yo
e  KMnOy acts as an oxidizing agent. Ve
Alkaline KMnO4s+Heat
e CH3CH,OH > CH3COOH 1
OR
(© . Ethene »
Conc. HpSOy acts as a dehydrating agent. 1/2
Conc.H,SO, + Heat
. CoH50H > CHy =CH» + H2O
4
38 | (@ Salivary glands; Starch / Carbohydrate Yo+ Y2
(b) Stomach, Anus Yo +Y42
(©)
(i) Theinner lining of the stomach will not be protected from the action 1
of acid.
(i1) Digested food will not be absorbed / Absorption areawill be reduced. 1
OR
(©)
e Emulsification of fats. 1
e Acidic medium hasto be made alkaline for the pancreatic enzymes to act. 1
4
39
(@
(1) Bulb A glows Yo
(i) BulbsB, C, D and E glow Yo
() P=VxI Yo
11 =55 x|
| = % =0.2amp V2
© %4 55V
(i) Resistanceof bulbB,R=—= ——=275Q 1
I 024
VZ
(alternative formulafor calculation R = 7)
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(i) Tota resistance of the series combination of four bulbs

=4x275=1100Q 1
OR
(©)
* Bulb A will keep glowing with same brightness. Yo
* Other bulbsi.e., B, D and E will stop glowing. Yo
Reason:

Asthe bulbs B, D and E are connected in series with fused bulb C, so no current flows 1
through them and thus they will not glow. The bulb A remains unaffected as it is
connected in parallel combination.

*kkkk*k
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Marking Scheme
Strictly Confidential
Secondary School Examination, 2024
SUBJECT NAME SCIENCE (086) (Q.P. CODE 31/3/3)

Generd Instructions: -

1

You are aware that evaluation is the most important process in the actual and correct
assessment of the candidates. A small mistake in evaluation may lead to serious problems
which may affect the future of the candidates, education system and teaching profession.
To avoid mistakes, it is requested that before starting evaluation, you must read and
understand the spot evaluation guidelines carefully.

“Evaluation policy is a confidential policy as it is related to the confidentiality of the
examinations conducted, Evaluation done and several other aspects. Its’ leakage to public
in any manner could lead to derailment of the examination system and affect the life and
future of millions of candidates. Sharing this policy/document to anyone, publishing in
any magazine and printing in News Paper/Website etc may invite action under various
rules of the Board and IPC.”

Evaluation is to be done as per instructions provided in the Marking Scheme. It should
not be done according to one’s own interpretation or any other consideration. Marking
Scheme should be dtrictly adhered to and religiously followed. However, while
evaluating, answers which are based on latest information or knowledge and/or are
innovative, they may be assessed for their correctness otherwise and due marks be
awarded to them. In class-X, while evaluating two competency-based questions, please
try to understand given answer and even if reply is not from marking scheme but correct
competency is enumerated by the candidate, due marks should be awarded.

The Marking scheme carries only suggested value points for the answers

These are in the nature of Guidelines only and do not constitute the complete answer.
The students can have their own expression and if the expression is correct, the due marks
should be awarded accordingly.

The Head-Examiner must go through the first five answer books evaluated by each
evaluator on the first day, to ensure that evaluation has been carried out as per the
instructions given in the Marking Scheme. If there is any variation, the same should be
zero after delibration and discussion. The remaining answer books meant for evaluation
shall be given only after ensuring that there is no significant variation in the marking of
individual evaluators.

Evaluators will mark( V') wherever answer is correct. For wrong answer CROSS ‘X” be
marked. Evaluatorswill not put right (v )while evaluating which gives an impression that
answer is correct and no marks are awarded. This is most common mistake which
evaluators are committing.

If a question has parts, please award marks on the right-hand side for each part. Marks
awarded for different parts of the question should then be totaled up and written in the
left-hand margin and encircled. This may be followed strictly.

If aquestion does not have any parts, marks must be awarded in the left-hand margin and
encircled. This may aso be followed strictly.

If astudent has attempted an extra question, answer of the question deserving more marks
should be retained and the other answer scored out with a note “Extra Question”.
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10 | Nomarksto be deducted for the cumul ative effect of an error. It should be penalized only
once.

11 | A full scale of marks __ 0-80 (example O to 80/70/60/50/40/30 marks as given
in Question Paper) hasto be used. Please do not hesitate to award full marksif the answer
deservesit.

12 | Every examiner hasto necessarily do evaluation work for full working hoursi.e., 8 hours
every day and evaluate 20 answer books per day in main subjects and 25 answer books
per day in other subjects (Details are given in Spot Guidelines).Thisisin view of the
reduced syllabus and number of questionsin question paper.

13 | Ensure that you do not make the following common types of errors committed by the
Examiner in the past:-

Leaving answer or part thereof unassessed in an answer book.

Giving more marks for an answer than assigned to it.

Wrong totaling of marks awarded on an answer.

Wrong transfer of marks from the inside pages of the answer book to the title page.
Wrong question wise totaling on the title page.

Wrong totaling of marks of the two columns on thetitle page.

Wrong grand total.

Marks in words and figures not tallying/not same.

Wrong transfer of marks from the answer book to online award list.

Answers marked as correct, but marks not awarded. (Ensure that the right tick mark is
correctly and clearly indicated. It should merely bealine. Sameiswith the X for incorrect
answer.)

Half or apart of answer marked correct and the rest as wrong, but no marks awarded.

14 | While evaluating the answer booksif the answer isfound to betotally incorrect, it should
be marked as cross (X) and awarded zero (O)Marks.

15 | Any unassessed portion, non-carrying over of marks to the title page, or totaling error
detected by the candidate shall damage the prestige of all the personnel engaged in the
evaluation work as also of the Board. Hence, in order to uphold the prestige of al
concerned, it is again reiterated that the instructions be followed meticulously and
judicioudly.

16 | The Examiners should acquaint themselves with the guidelines given in the “Guidelines
for Spot Evaluation” before starting the actual evaluation.

17 | Every Examiner shall also ensure that al the answers are evaluated, marks carried over
to the title page, correctly totaled and written in figures and words.

18 | The candidates are entitled to obtain photocopy of the Answer Book on request on

payment of the prescribed processing fee. All Examiners/Additional Head
Examiners'Head Examiners are once again reminded that they must ensure that
evauation is carried out strictly as per value points for each answer as given in the
Marking Scheme.
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MARKING SCHEME
Secondary School Examination, 2024
SCIENCE (Subject Code-086)

[ Paper Code: 31/3/3]

Maximum Marks: 80

Q. EXPECTED ANSWER/VALUE POINTS Mark | Total
No. S Mark
S
SECTION A
1 (B) / CaO + HpO — Ca(OH)2 1 1
2 (A) / Quick lime 1 1
3 (B) / Turmeric and litmus 1 1
4 (A) / Washing Soda 1 1
5 (D) /INO2, PO and O 1 1
6 (D) /Butyne, Ethene, Propyne 1 1
7 | (B) 1 1
8 (C) / (b) and (c) 1 1
9 (©)/9:3:3:1 1 1
10 | (D) / Cytokinins 1 1
11 | (C)/ Genetic material is contributed by two individuals of same speciesto 1 1
produce a new generation.
12 | (C) / Reptiles 1 1
13 [ (D)/4D and 2L 1 1
14 | (D)/1Q 1 1
15 | (B)/ (@ and (¢ 1 1
16 | (A)/ 2trophiclevels 1 1
17 | (C)/ Assertion (A) istrue, but Reason (R) isfalse 1 1
18 | (C)/ Assertion (A) istrue, but Reason (R) isfalse 1 1
19 | (A)/ Both Assertion (A) and Reason (R) are true, and Reason (R) isthe 1 1
correct explanation of Assertion (A)
20 | (B)/Both Assertion (A) and Reason (R) are true and Reason (R) is not the 1 1
correct explanation of Assertion (A)
SECTION B
21 | (&) Presenceof Sunlight Y%
Decomposition reaction / Photochemical reaction. Y%
Heat 1 2
(b) 2FeSO4(S) — FezOg(S) + SOz(g) + SOg(g)
22 | (a) 2visible characters of garden pea plants are:
e Talness (dominant), Dwarfness (recessive) Yot Yo
e Yellow seeds (dominant), Green seeds (recessive) Yo+ 2

(Any other pair )
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OR

(b)
(x Y) <;-><j§> Paronts 1/2
GO P 2
CIXETS ,
" '—w-.l. Chilt 2
205 Y
23 | e Synthesized at shoot tip/root tip Y
e When light falls on one side of the plant, auxin diffuses towards the
shady side of shoot. The concentration of auxin stimulates the cells to
grow longer on the side of shoot which is away from light. Thus plant | 172
appears bent towards light/phototropism.
24 | (a)
b_} CURRENT
Fig.12.6(a), on page 199-NCERT
Diagram: 1
Directions of current and magneticfield: | 1441,
OR
(b)

Permanent magnet / Current carrying solenoid/ Electromagnet

Yo
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Current Carrying Solenold

lran Rod

Fig-12.11, page no.201-NCERT

Diagram: 1
L abelling: Y
25 | ¢ When he cannot see nearby objects distinctly but can see far object Yo
clearly.
e 2causes
Focal length of the eye lensistoo long. Y2
Eyeball becomestoo small. Y2
e Convex or Converging lens Y2
26 | () Greater number of alternativesin the form of variety of organisms 1
available at each trophic level in an ecosystem.
(b) The avail able energy keeps on decreasing at each trophic level according 1
to 10 percent law. So more trophic levels lead to less energy at the last
trophic level which is not enough for the organismsto survive.
SECTIONC
27 @
e Thermit reaction Yo
o FepOg3(g) + 2Al(s) — 2Fe(l) + AloO3(g) + Heat 1
e Because Al being more reactive than Fe, it displaces Fein FeoO3 1
e Thisreactionisused to join railway tracks/ cracked machine parts. 1
OR
(b)
() ‘E’— Sodium (Na) / Potassium(K) 1
(if)
.« Inwater - 2Na(s) + 2H20(1)— 2NaOH(aq) +H2 ) + heat energy 1
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. Nature of the product — Basic

Yo

(iii) Electrolytic reduction 1
28 | (&) Amphoteric oxide (zinc oxide) reacts with acids as well as basesto 1
produce salt and water.
(b) Bubbles of hydrogen gas which are formed during the reaction stick to 1
the surface of calcium metal and make it lighter.
(c) Nitric acid is a strong oxidising agent. It oxidises the hydrogen 1
produced in the reaction to water.
29 | When water islost through stomatain the leaves by transpiration, it creates | 1+1+1
asuction force/transpiration pull, due to which water is pulled up through
xylem of the rootsto the leaves.
30 |- Name:- Adrenaline Ys
. Location:- Adrenal gland Y
. Responses :
Heart beats faster resulting in supply of more oxygen to our muscles. Blood
to the digestive system is reduced due to contraction of muscles around
small arteries. Breathing rate increases due to the contractions of diaphragm 2
and rib muscles.
31 |« It prevents damage to the appliances and the electrical circuit from 1
overloading and short circuiting.
HereP=3kW =3000W,V =220V, | =7
P=VI 7]
1= 2 -300%_ 13634 1
vV 220V
13-63 A > Rating of fuse 5 A, therefore fuse wire will melt and break the Y2
circuit.
32 | T, —
i B2 160k
............ AAAAA AR 1
4 CelleaflaW
. |
—HHH= (o) —@®
|74 4X 15V 6V 1
(@) Current (1) =— = = =—A 1
R 20+60+160 240 4
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(b) Potential Difference across 16 Q resistor = 1; Ax16Q=4V

1
33 |+ Scattering of light / Tyndall effect 1
* When a beam of light strikes fine particles of smoke, it is reflected
diffusely and the path of the light becomes visible. 1
* Very fine particles scatter mainly blue light/short wavelength colours
while the particles of larger size scatter longer wavel ength colours. 1
SECTION D
34 (@ (i)
1)
1
Fig.9.13(b), Page-153, NCERT.
@)
1

T

F:l || l.l fﬁ"‘u

Fig.9.14(b)-Page-154, NCERT.

(Note:- Deduct half mark if directions of rays are not shown)

(i) Givenu=-16cm,f=+24cm, h=4cm

Yo
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Image is formed on the same side as the object

o BB
m h 5
ho_ 48
4  -16
h' =12cm
OR
(b) (i)
(1)

Incident Ray

o

Yo

Ya

Yo
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2

Incident Ray

Reflected Ray : 1

(Note:- Deduct half mark if directions of rays are not shown)

(i) Heref=-12cm,u=-18cm,v=?h=15cm,h’'=? &
Mirror formula 1 + 1 = i s
v u
1_1 1
v f ou
1 1

" _12cm  —18 cm

- -1
T 36
v=—36cm 1
h' v
m=—=-- Y
h u
h' _ (-36)
1.5  (-18)
h'=-30cm VA
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35 | (@ Gonorrhoea, Syphilis, AIDS, Warts Yot Y
(Any two)

(b) Because child sex ratio is declining/ due to reckless female 1
foeticide.

(©)

(i) Ord pills/ Chemica method ; change the hormonal balance of the body.

(if) Copper — T or loop; irritation of the uterus. % 6

(iii) Surgical method; can cause infections.

OR

@ Unisexual — Papaya/ Watermelon Y
Bisexua — Hibiscus/ Mustard Ys

(b) Thetransfer of pollen grains from anther of one flower to stigma of 1
another flower is called cross — pollination.
Transfer of pollen grainsis carried out by some pollinating agents 1
like wind, water and animals.

(© A — Plumule — Future shoot
B — Radicle— Future root Yox 4

*Refer fig. 7-9 Page 121 for diagram

® 1@ 0

(1) Solution B

(2) SolutionC

(3) Solution A

(4) SolutionD x5

(5) Solution E

Increasing Order of H* ion concentration-C<E<D <A <B

(i) (1) Acidic salt : (Ammonium chloride) NH4Cl
Parent Acid-Hydrochloric acid /HCI
Parent Base- Ammonium hydroxide/(NH4OH)

(2) Basic salt : (Sodium Carbonate) NapCO3
Parent Acid-Carbonic acid / HoCO3

Parent Base- Sodium hydroxide / NaOH
(Or Any other)

Yo

Yo

Yo

Yo

Yo
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OR

(b) Chlor — alkali process; 1
e When electricity is passed through NaCl (ag) it decomposes to Yo
form sodium hydroxide./2NaCl + 2H>0---->2NaOH+Cl,+H:>
* X-Clpgas —at anode Yo+ Y2
* Y —Hygas —at cathode T2+
(award marksif explained by diagram)
» Z - Bleaching powder / CaOCly / Calcium Oxychloride 1
* Ca(OH)2 + Clp —— CaOCly + H20 1
(Bleaching powder)
SECTIONE
37 | (d . CH3Br Y
. CoHgBr Y2
b () Aldehyde if
(i) Ketone 2
(© . The colour of KMnOy4 disappears, Zz
. KMnOy4 acts as an oxidizing agent.
Alkaline KMnO4+Heat 1
. CH3CH20H > CH3COOH
OR
(© . Ethene s
Conc. H2SO4 acts as a dehydrating agent. Y
Conc.H,SO, + Heat
. Hs5OH > CHp=CHpy+H
CoH50 243K CHo =CHp + H0O 1
38 | (@ Salivary glands; Starch / Carbohydrate Yo+ Y5
(b) Stomach, Anus Yo +Y%
(©)
(i) Theinner lining of the stomach will not be protected from the action 1
of acid.
(ii) Digested food will not be absorbed. / Absorption areawill be reduced 1
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OR

(©)
e Emulsification of fats. 1
e Acidic medium hasto be made akaline for the pancreatic 1
enzymes to act.
39
)
() Bulb A glows Y
(i) Bulbs B, C, D and E glow Y%
(b)  P=Vxl Y
11=55x]
| ===02amp Y
© %4 55V
(i) Resistanceof bulbB,R=—= ——=2750Q 1
I 0.2A
VZ
(alternative formula for calculation R = 7)
(i) Total resistance of the series combination of four bulbs 1
=4 x275=1100 Q
OR
(©)
. Bulb A will keep glowing with same brightness. Y2
. Other bulbsi.e., B, D and E will stop glowing. Y2
Reason :
1

Asthe bulbs B, D and E are connected in series with fused bulb C, so no
current flows through them and thus they will not glow. The bulb A remains
unaffected asit is connected in parallel combination.

*kkk*
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